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228-09 JIEt&E =& 47,000 47,000 0
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500 Ex3 557,440 544,767 12,673
510 =E2x=S 425,952 415,814 10,138
511 I NEXSS 425,952 415,814 10,138
511-01 =12=x= 425,952 415,814 10,138
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2 X2 3,305,225 3,079,357 225,868
= 425,952
S 131,488
Al 2,747,785
S00I2x4sgs 2 3,200,785 2,976,449 224,336
= 384,000
S 121,000
Al 2,695,785
2202 X2LSHIH 230II2x4S 3,200,785 2,976,449 224,336
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= 384,000
5 121,000
Al 2,695,785
2220 A 2,695,785 2,482,590 213,195
308 XXl EHHSOI & 2,695,785 2,482,590 213,195
05 XbXIEHH 2 et 2,695,785 2,482,590 213,195
OREXISHHIZ 2 2,695,785
-ol2 30l 2,676,138
-AYMESR 19,647
9230 #3230l 480,000 468,859 11,141
= 384,000
S 96,000
307 2I2+0| & 480,000 468,859 11,141
= 384,000
[ 96,000
01 gL Rat| 480,000 468,859 11,141
OolzZ0f 82201l 480,000
= 384,000
S 96,000
o230 #F 25,000 25,000 0
[ 25,000
201 Lure | 20,000 18,000 2,000
3 20,000
01 AFR22IH| 20,000 18,000 2,000
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S 9,160
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[ 5,000
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S 5,000
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= 41,952
[ 10,488
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= 41,952
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